% % (@ p Forenkling av polynom

namn: Datum: Poéng:
7% — 75— 2%° — 2(9x — 9x) 3% + 3x% + 48 + 2x) + Tx°
A8 + 4x%) + 4’ — Sx+ 2x° 40 - 5x%) = 2x + 5x° — 4x
3x% — dx+ 9% + 9x° — 4x® 4(5)63 — 5x)— 2x+ 6x— o’
7> — x> — 4(5x + 2x) — 9x 2(3x° — 4x%) + 4x® — 2+ 2x
3(6x° — 2%) + x + 4’ — 4x? 3(7x% + 9x) — &% + 2 + x?
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TSP 8P

Forenkling av polynom
namn: Datum: Poéng:
T2 — T = 23 — 2(9x — 9x) 3x2 + 302 + 4(8x° + 2x) + T

_2x3

4(8x° + 4x?) + 4x — Sx + 2x?
36x° + 18x% — 5x

3% — dx + 9% + O — 4x3
5% + 12xF — 4x

T — X3 —4(5x + 2x) — 9x
6x° — 37x

3(6x° — sz) +x+ A —4xP
225 — 1062 +x

323 + 13x% + 8x

40 — 5x%) = 2x+ 5¢° — 4x
5¢° — 1622 — 6x

4(5x3 —5x)—2x+ 6x— x>
11x° — 16x

203x° — 4x%) +4x® — 2x+ 2x

10x° — 82

3(7%% + 9x) — 8x% + 2% + X2
260 + 1422 + 27x
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